

Stability of Iterative Sequences Approximating Common Fixed Point for a System of Asymptotically Quasi-nonexpansive Type Mappings

JUN LI

School of Mathematics and Information, China West Normal University, Nanchong, Sichuan 637002, P. R. China

e-mail: junli1206@163.com

NAN-JING HUANG

Department of Mathematics, Sichuan University, Chengdu, Sichuan 610064, P. R. China

e-mail: njhuang@scu.edu.cn

YEOL JE CHO

Department of Mathematics Education and the RINS, Gyeongsang National University, Chinju 660-701, Korea

e-mail: yjcho@gsnu.ac.kr

ABSTRACT. In this paper, we introduce the concept of a system of asymptotically quasi-nonexpansive type mappings. Furthermore, we define a k -step iterative sequence approximating common fixed point for a system of asymptotically quasi-nonexpansive type mappings and study its stability in real Banach spaces.

1. Introduction

Let X be an arbitrary real Banach space and C be a nonempty close and convex subset of X . Let $T : C \rightarrow C$ be a mapping. Suppose that, for any $x_0 \in X$,

$$(1.1) \quad x_{n+1} = f(T, x_n)$$

yields a sequence of points $\{x_n\}$ in C , where f denotes the iterative process involving T and x_n . Suppose that $F(T) = \{x \in C : Tx = x\} \neq \emptyset$ and $\{x_n\}$ converges strongly to $x^* \in F(T)$. Let $\{y_n\}$ be a sequence in C and $\{\epsilon_n\}$ be a sequence in $[0, \infty)$ defined by

$$\epsilon_n = \|y_{n+1} - f(T, y_n)\|.$$

Received November 30, 2005.

2000 Mathematics Subject Classification: 47H05, 47H09, 47H10, 49M05.

Key words and phrases: k -step iterative sequence, a system of asymptotically quasi-nonexpansive type mappings, common fixed point, stability.

The first author was supported by the Youth Foundation of Sichuan Education Department of China, the second author was supported by the Scientific Research Foundation for the Returned Overseas Chinese Scholars, State Education Ministry, and the third author was supported by the Korea Research Foundation Grant (KRF-2003-005-C00013).

If $\lim_{n \rightarrow \infty} \epsilon_n = 0$ implies that $\lim_{n \rightarrow \infty} y_n = x^*$, then the iterative process defined by (1.1) is said to be T -stable or stable with respect to T (see, for example, [6]-[8], [14], [15], [17], [18] and the references therein).

We say that the iterative process $\{x_n\}$ defined by (1.1) is almost T -stable or almost stable with respect to T if $\sum_{n=0}^{\infty} \epsilon_n < \infty$ implies that $\lim_{n \rightarrow \infty} y_n = x^*$ (see [15]). It is easy to see that an iterative process $\{x_n\}$ which is T -stable is almost T -stable. The example in [15] showed that an iterative process which is almost T -stable need not be T -stable.

Stability results for several iterative processes for some kinds of nonlinear mappings have been shown in recent papers by many authors (see, for example, [1], [2], [6]-[8], [14], [15], [17], [18] and the references therein). Harder and Hicks [8] showed how such sequences $\{y_n\}$ could arise in practice and demonstrated the importance of investigating the stability of various iterative processes for various kinds of nonlinear mappings.

The concepts of quasi-nonexpansive mapping was initiated by Tricomi in 1941 for real functions. The concepts of asymptotically nonexpansive mapping and the asymptotically nonexpansive type mapping were introduced by Goebel and Kirk [5] and Kirk [10], respectively, which are closely related to the theory of fixed points in Banach spaces. Recently, the iterative approximating problem of fixed points for asymptotically nonexpansive mappings or asymptotically quasi-nonexpansive mappings has been studied by many authors (see, for example, [3], [4], [9], [11]-[13], [16], [19]-[22] and the references therein).

In this paper, we introduce the concept of a system of asymptotically quasi-nonexpansive type mappings. Furthermore, we define a k -step iterative sequence approximating common fixed point for a system of asymptotically quasi-nonexpansive type mappings and study its stability in real Banach spaces. Our results extend, improve and unify the corresponding results of [3], [4], [9], [11]-[13], [16] and [19]-[22].

2. Preliminaries

Definition 2.1. Let X be a real Banach space and C be a nonempty close and convex subset of X . Let $T : C \rightarrow C$ be a mapping. Denote by $F(T)$ the set of fixed points of T , that is, $F(T) = \{x \in C : Tx = x\}$.

- (1) T is said to be nonexpansive if

$$\|Tx - Ty\| \leq \|x - y\|, \quad \forall x, y \in C;$$

- (2) T is said to be quasi-nonexpansive if, $F(T) \neq \emptyset$ and

$$\|Tx - x^*\| \leq \|x - x^*\|, \quad \forall x \in C, x^* \in F(T);$$

- (3) T is said to be asymptotically nonexpansive [5] if there exists a sequence $\{k_n\} \subset [1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$ such that

$$\|T^n x - T^n y\| \leq k_n \|x - y\|, \quad \forall x, y \in C, n \geq 0;$$

- (4) T is said to be asymptotically quasi-nonexpansive if $F(T) \neq \emptyset$ and there exists a sequence $\{k_n\} \subset [1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$ such that

$$\|T^n x - x^*\| \leq k_n \|x - x^*\|, \quad \forall x \in C, x^* \in F(T), n \geq 0;$$

(5) T is said to be asymptotically nonexpansive type [10] if

$$\limsup_{n \rightarrow \infty} \sup_{x \in C} \{ \|T^n x - T^n y\| - \|x - y\| \} \leq 0, \quad \forall y \in C;$$

(6) T is said to be asymptotically quasi-nonexpansive type if $F(T) \neq \emptyset$ and

$$\limsup_{n \rightarrow \infty} \sup_{x \in C} \{ \|T^n x - x^*\| - \|x - x^*\| \} \leq 0, \quad \forall x^* \in F(T).$$

Remark 2.1. It is easy to see that the following relations hold:

$$\begin{array}{ccc} (1) & \xrightarrow{F(T) \neq \emptyset} & (2) \\ \downarrow & & \downarrow \\ (3) & \xrightarrow{F(T) \neq \emptyset} & (4) \\ \downarrow & & \downarrow \\ (5) & \xrightarrow{F(T) \neq \emptyset} & (6). \end{array}$$

Throughout this paper, let X be a real Banach space, C a nonempty close and convex subset of X . Let $T_1, T_2, \dots, T_k : C \rightarrow C$ be mappings, $F(T_i)$ the set of fixed points of T_i , where k is a given positive integer. Let m and n be the nonnegative integers.

Definition 2.2. Let X be a real Banach space, C a nonempty close and convex subset of X . $T_1, T_2, \dots, T_k : C \rightarrow C$ are said to be a system asymptotically quasi-nonexpansive type mappings if $S = \cap_{i=1}^k F(T_i) \neq \emptyset$ and, for each $i \in \{1, 2, \dots, k\}$,

$$\limsup_{n \rightarrow \infty} \sup_{x \in C} \{ \|T_i^n x - x^*\| - \|x - x^*\| \} \leq 0, \quad \forall x^* \in S.$$

Remark 2.2. It is easy to see that the concept of a system asymptotically quasi-nonexpansive type mappings defined by Definition 2.2 reduces to that of asymptotically quasi-nonexpansive type mappings defined by Definition 2.1 (6) when $T_1 = T_2 = \dots = T_k$.

In our main results, we need the following lemma.

Lemma 2.1 ([21]). Let $\{a_n\}$ and $\{b_n\}$ be two nonnegative sequences satisfying

$$a_{n+1} \leq a_n + b_n, \quad \forall n \geq n_0,$$

where $\sum_{n=0}^{\infty} b_n < \infty$ and n_0 is some positive integer. Then the $\lim_{n \rightarrow \infty} a_n$ exists.

3. The main results

Theorem 3.1. Let X be a real Banach space and C be a nonempty close and convex subset of X . Let $T_1, T_2, \dots, T_k : C \rightarrow C$ be a system of asymptotically quasi-nonexpansive type mappings defined by Definition 2.2. Assume that, for each $i \in \{1, 2, \dots, k\}$, there exist constants L_i and $\alpha'_i > 0$ such that

$$(3.1) \quad \|T_i x - y^*\| \leq L_i \|x - y^*\|^{\alpha'_i}, \quad \forall x \in C, y^* \in S = \cap_{i=1}^k F(T_i).$$

For any given $x_0 \in C$, Define the k -step iterative sequence $\{x_n\}$ by

$$(3.2) \quad \begin{cases} z_{k-1,n} = (1 - \alpha_{k,n})x_n + \alpha_{k,n}T_k^n x_n, & n \geq 0, \\ z_{k-2,n} = (1 - \alpha_{k-1,n})x_n + \alpha_{k-1,n}T_{k-1}^n z_{k-1,n}, & n \geq 0, \\ \dots\dots\dots \\ z_{1,n} = (1 - \alpha_{2,n})x_n + \alpha_{2,n}T_2^n z_{2,n}, & n \geq 0, \\ x_{n+1} = (1 - \alpha_{1,n})x_n + \alpha_{1,n}T_1^n z_{1,n}, & n \geq 0, \end{cases}$$

where $\{\alpha_{i,n}\}$ is a sequence in $[0, 1]$ satisfying $\sum_{n=0}^{\infty} \alpha_{1,n} < \infty$ for each $i \in \{1, 2, \dots, k\}$. Suppose that $\{y_n\}$ is a sequence in C and define a sequence $\{\epsilon_n\}$ of positive real numbers by

$$(3.3) \quad \begin{cases} w_{k-1,n} = (1 - \alpha_{k,n})y_n + \alpha_{k,n}T_k^n y_n, & n \geq 0, \\ w_{k-2,n} = (1 - \alpha_{k-1,n})y_n + \alpha_{k-1,n}T_{k-1}^n w_{k-1,n}, & n \geq 0, \\ \dots\dots\dots \\ w_{1,n} = (1 - \alpha_{2,n})y_n + \alpha_{2,n}T_2^n w_{2,n}, & n \geq 0, \\ \epsilon_n = \|y_{n+1} - (1 - \alpha_{1,n})y_n - \alpha_{1,n}T_1^n w_{1,n}\|, & n \geq 0. \end{cases}$$

Then we have the following:

- (i) $\liminf_{n \rightarrow \infty} d(x_n, S) = 0$ if and only if $\{x_n\}$ converges strongly to a common fixed point x^* of T_1, T_2, \dots, T_k in C , where $S = \bigcap_{i=1}^k F(T_i)$ and $d(x_n, S)$ denotes the distance from x_n to the set S , i.e., $d(x_n, S) = \inf_{y^* \in S} \|x_n - y^*\|$.
- (ii) $\sum_{n=0}^{\infty} \epsilon_n < \infty$ and $\liminf_{n \rightarrow \infty} d(y_n, S) = 0$ imply that $\{y_n\}$ converges strongly to a common fixed point x^* of T_1, T_2, \dots, T_k in C .
- (iii) If $\{y_n\}$ converges strongly to a common fixed point x^* of T_1, T_2, \dots, T_k in C , then $\lim_{n \rightarrow \infty} \epsilon_n = 0$.

In order to prove Theorem 3.1, we first give the following proposition:

Proposition 3.1. Assume that all the assumptions in Theorem 3.1 hold and $\sum_{n=0}^{\infty} \epsilon_n < \infty$, then, for any given $\epsilon > 0$, there exists a positive integer n_0 such that

- (1) $\|y_{n+1} - y^*\| \leq \|y_n - y^*\| + \epsilon \gamma_{k,n} + \epsilon_n, \quad \forall y^* \in S, n \geq n_0$, where $\gamma_{k,n} = \alpha_{1,n} + \alpha_{1,n}\alpha_{2,n} + \dots + \alpha_{1,n}\alpha_{2,n} \dots \alpha_{k,n}$;
- (2) $\|y_m - y^*\| \leq \|y_n - y^*\| + \epsilon \sum_{j=n}^{m-1} \gamma_{k,j} + \sum_{j=n}^{m-1} \epsilon_j, \quad \forall y^* \in S, n \geq n_0, m > n$;
- (3) $\lim_{n \rightarrow \infty} d(y_n, S)$ exists.

Proof. Take any $y^* \in S$, it follows from (3.3) that

$$(3.4) \quad \begin{aligned} & \|y_{n+1} - y^*\| \\ & \leq \epsilon_n + \|(1 - \alpha_{1,n})(y_n - y^*) + \alpha_{1,n}(T_1^n w_{1,n} - y^*)\| \\ & \leq (1 - \alpha_{1,n})\|y_n - y^*\| + \alpha_{1,n}(\|T_1^n w_{1,n} - y^*\| - \|w_{1,n} - y^*\|) \\ & \quad + \alpha_{1,n}\|w_{1,n} - y^*\| + \epsilon_n \end{aligned}$$

and

$$\begin{aligned} & \|w_{1,n} - y^*\| \\ & = \|(1 - \alpha_{2,n})(y_n - y^*) + \alpha_{2,n}(T_2^n w_{2,n} - y^*)\| \\ & \leq (1 - \alpha_{2,n})\|y_n - y^*\| + \alpha_{2,n}(\|T_2^n w_{2,n} - y^*\| - \|w_{2,n} - y^*\|) + \alpha_{2,n}\|w_{2,n} - y^*\|. \end{aligned}$$

Continuing in this way, we can deduce that

$$\begin{aligned}
 (3.5) \quad & \|w_{i,n} - y^*\| \\
 &= \|(1 - \alpha_{i+1,n})(y_n - y^*) + \alpha_{i+1,n}(T_{i+1}^n w_{i+1,n} - y^*)\| \\
 &\leq (1 - \alpha_{i+1,n})\|y_n - y^*\| + \alpha_{i+1,n}(\|T_{i+1}^n w_{i+1,n} - y^*\| - \|w_{i+1,n} - y^*\|) \\
 &\quad + \alpha_{i+1,n}\|w_{i+1,n} - y^*\|, \quad 1 \leq i \leq k-2,
 \end{aligned}$$

and

$$\begin{aligned}
 (3.6) \quad & \|w_{k-1,n} - y^*\| \\
 &= \|(1 - \alpha_{k,n})(y_n - y^*) + \alpha_{k,n}(T_k^n y_n - y^*)\| \\
 &\leq (1 - \alpha_{k,n})\|y_n - y^*\| + \alpha_{k,n}(\|T_k^n y_n - y^*\| - \|y_n - y^*\|) + \alpha_{k,n}\|y_n - y^*\|.
 \end{aligned}$$

Since $T_1, T_2, \dots, T_k : C \rightarrow C$ are a system of asymptotically quasi-nonexpansive type mappings, from definition Definition 2.2, we obtain, for each $i \in \{1, 2, \dots, k\}$,

$$\limsup_{n \rightarrow \infty} \sup_{x \in C} \{\|T_i^n x - y^*\| - \|x - y^*\|\} \leq 0,$$

which implies that, for any given $\epsilon > 0$, there exists a positive integer $n_{i,0}$ such that

$$\sup_{x \in C} \{\|T_i^n x - y^*\| - \|x - y^*\|\} < \epsilon, \quad \forall n \geq n_{i,0}.$$

Set $n_0 = \max_{1 \leq i \leq k} \{n_{i,0}\}$. Then it follows that, for any $i \in \{1, 2, \dots, k\}$,

$$(3.7) \quad \sup_{x \in C} \{\|T_i^n x - y^*\| - \|x - y^*\|\} < \epsilon, \quad \forall n \geq n_0.$$

Since $\{w_{i,n}\} \subset C$, it follows from (3.7) that

$$(3.8) \quad \|T_i^n w_{i,n} - y^*\| - \|w_{i,n} - y^*\| < \epsilon$$

for all $n \geq n_0$ and $i \in \{1, 2, \dots, k-1\}$. Again, since $\{y_n\} \subset C$, (3.7) implies that

$$(3.9) \quad \|T_k^n y_n - y^*\| - \|y_n - y^*\| < \epsilon, \quad \forall n \geq n_0.$$

Substituting (3.5), (3.6), (3.8) and (3.9) into (3.4), for any $y^* \in S$ and $n \geq n_0$, we have

$$(3.10) \quad \|y_{n+1} - y^*\| \leq \|y_n - y^*\| + \epsilon_n + \epsilon\{\alpha_{1,n} + \alpha_{1,n}\alpha_{2,n} + \dots + \alpha_{1,n}\alpha_{2,n} \dots \alpha_{k,n}\}.$$

Set $\gamma_{k,n} = \alpha_{1,n} + \alpha_{1,n}\alpha_{2,n} + \dots + \alpha_{1,n}\alpha_{2,n} \dots \alpha_{k,n}$. It follows from (3.10) that

$$\|y_{n+1} - y^*\| \leq \|y_n - y^*\| + \epsilon\gamma_{k,n} + \epsilon_n, \quad \forall y^* \in S, \quad n \geq n_0.$$

Hence the conclusion (1) holds. From the conclusion (1), we have

$$\begin{aligned}
 \|y_m - y^*\| &\leq \|y_{m-1} - y^*\| + \epsilon\gamma_{k,m-1} + \epsilon_{m-1} \\
 &\leq \|y_{m-2} - y^*\| + \epsilon\gamma_{k,m-2} + \epsilon\gamma_{k,m-1} + \epsilon_{m-2} + \epsilon_{m-1} \\
 &\leq \dots \\
 &\leq \|y_n - y^*\| + \epsilon \sum_{j=n}^{m-1} \gamma_{k,j} + \sum_{j=n}^{m-1} \epsilon_j, \quad \forall y^* \in S, \quad m > n, \quad n \geq n_0.
 \end{aligned}$$

Thus the conclusion (2) holds. Again, it follows from the conclusion (1) that

$$d(y_{n+1}, S) \leq d(y_n, S) + \epsilon \gamma_{k,n} + \epsilon_n, \quad \forall n \geq n_0.$$

Since

$$\sum_{n=0}^{\infty} \alpha_{1,n} < \infty, \quad \sum_{n=0}^{\infty} \epsilon_n < \infty,$$

we have

$$\sum_{n=0}^{\infty} (\epsilon \gamma_{k,n} + \epsilon_n) \leq k\epsilon \sum_{n=0}^{\infty} \alpha_{1,n} + \sum_{n=0}^{\infty} \epsilon_n < \infty.$$

Therefore, Lemma 2.1 implies that the conclusion (3) holds. This completes the proof.

The proof of Theorem 3.1. It is easy to see that the sufficiency of the conclusion (i) is obvious and the necessity follows from the conclusion (ii) by setting $\epsilon_n = 0$ in (3.3) for $n \geq 0$ and considering (3.2).

Now, we prove the conclusion (ii) holds. It follows from Proposition 3.1 (3) that $\lim_{n \rightarrow \infty} d(y_n, S)$ exists. Since $\liminf_{n \rightarrow \infty} d(y_n, S) = 0$, we have

$$(3.11) \quad \lim_{n \rightarrow \infty} d(y_n, S) = 0.$$

First, we prove that $\{y_n\}$ is a Cauchy sequence in C . In fact, from (3.11), the assumptions $\sum_{n=0}^{\infty} \alpha_{1,n} < \infty$ and $\sum_{n=0}^{\infty} \epsilon_n < \infty$ imply that, for any given $\epsilon > 0$, there exists a positive integer $n_1 \geq n_0$ (where n_0 is the positive integer appeared in Proposition 3.1) such that

$$(3.12) \quad d(y_n, S) < \epsilon, \quad \forall n \geq n_1,$$

$$(3.13) \quad \sum_{n=n_1}^{\infty} \gamma_{k,n} \leq k \sum_{n=n_1}^{\infty} \alpha_{1,n} < \epsilon$$

and

$$(3.14) \quad \sum_{n=n_1}^{\infty} \epsilon_n < \epsilon,$$

where $\gamma_{k,n}$ is the same as in Proposition 3.1. By the definition of infimum, it follows from (3.12) that, for any given $n \geq n_1$, there exists $y^*(n) \in S$ such that

$$(3.15) \quad \|y_n - y^*(n)\| < 2\epsilon.$$

On the other hand, for any $m, n \geq n_1$ and $m > n$, it follows from Proposition 3.1 (2) that

$$(3.16) \quad \begin{aligned} \|y_m - y_n\| &\leq \|y_m - y^*(n)\| + \|y_n - y^*(n)\| \\ &\leq 2\|y_n - y^*(n)\| + \epsilon \sum_{j=n}^{m-1} \gamma_{k,j} + \sum_{j=n}^{m-1} \epsilon_j. \end{aligned}$$

From (3.13)-(3.16), for any $m, n \geq n_1$ and $m > n$, we have

$$\|y_m - y_n\| \leq 4\epsilon + \epsilon^2 + \epsilon = \epsilon(5 + \epsilon),$$

which implies that $\{y_n\}$ is a Cauchy sequence in C . Since X is complete and C is closed, C is complete. Then there exists $x^* \in C$ such that $y_n \rightarrow x^*$ as $n \rightarrow \infty$.

Now, we prove that x^* is a common fixed point of T_1, T_2, \dots, T_k in C . Since $y_n \rightarrow x^*$ and $d(y_n, S) \rightarrow 0$ as $n \rightarrow \infty$, then, for any given $\epsilon > 0$, there exists a positive integer $n_2 \geq n_1 \geq n_0$ such that

$$(3.17) \quad \|y_n - x^*\| < \epsilon, \quad d(y_n, S) < \epsilon, \quad \forall n \geq n_2.$$

The second inequality in (3.17) implies that there exists $y_1^* \in S$ such that

$$(3.18) \quad \|y_{n_2} - y_1^*\| < 2\epsilon.$$

Moreover, it follows from (3.7) that, for any $i \in \{1, 2, \dots, k\}$,

$$(3.19) \quad \|T_i^n x^* - y_1^*\| - \|x^* - y_1^*\| < \epsilon, \quad \forall n \geq n_2.$$

Thus, from (3.17)-(3.19), for any $i \in \{1, 2, \dots, k\}$ and $n \geq n_2$, we have

$$\begin{aligned} \|T_i^n x^* - x^*\| &\leq \{\|T_i^n x^* - y_1^*\| - \|x^* - y_1^*\|\} + 2\|x^* - y_1^*\| \\ &\leq \epsilon + 2\{\|x^* - y_{n_2}\| + \|y_1^* - y_{n_2}\|\} \\ &\leq \epsilon + 2(\epsilon + 2\epsilon) = 7\epsilon, \end{aligned}$$

which implies that $T_i^n x^* \rightarrow x^*$ as $n \rightarrow \infty$. Again, since

$$\|T_i^n x^* - T_i x^*\| \leq \{\|T_i^n x^* - y_1^*\| - \|x^* - y_1^*\|\} + \|x^* - y_1^*\| + \|T_i x^* - y_1^*\|$$

for all $1 \leq i \leq k$ and $n \geq n_2$, (3.1) and (3.17)-(3.19) imply

$$\begin{aligned} &\|T_i^n x^* - T_i x^*\| \\ &\leq \epsilon + \|x^* - y_1^*\| + L_i \|x^* - y_1^*\|^{\alpha'_i} \\ &\leq \epsilon + \|x^* - y_{n_2}\| + \|y_1^* - y_{n_2}\| + L_i \{\|x^* - y_{n_2}\| + \|y_1^* - y_{n_2}\|\}^{\alpha'_i} \\ &< \epsilon + 3\epsilon + L_i (3\epsilon)^{\alpha'_i}, \end{aligned}$$

which shows that $T_i^n x^* \rightarrow T_i x^*$ as $n \rightarrow \infty$. By the uniqueness of the limit, we have $T_i x^* = x^*$, that is, x^* is a fixed point of T_1, T_2, \dots, T_k in C . Therefore, the conclusion (ii) holds.

From (3.4)-(3.6), (3.8) and (3.9), we have, for any given $\epsilon > 0$,

$$\begin{aligned} \epsilon_n &\leq \|y_{n+1} - x^*\| + \|(1 - \alpha_{1,n})(y_n - x^*) + \alpha_{1,n}(T_1^n w_{1,n} - x^*)\| \\ &\leq \|y_{n+1} - x^*\| + (1 - \alpha_{1,n})\|y_n - x^*\| + \alpha_{1,n}(\|T_1^n w_{1,n} - x^*\| - \|w_{1,n} - x^*\|) \\ &\quad + \alpha_{1,n}\|w_{1,n} - x^*\| \\ &\leq \dots \\ &\leq \|y_{n+1} - x^*\| + \|y_n - x^*\| + \epsilon\{\alpha_{1,n} + \alpha_{1,n}\alpha_{2,n} + \dots + \alpha_{1,n}\alpha_{2,n} \dots \alpha_{k,n}\} \\ &= \|y_{n+1} - x^*\| + \|y_n - x^*\| + \epsilon\gamma_{k,n}, \quad \forall n \geq n_0. \end{aligned}$$

Since $y_n \rightarrow x^*$ and $\sum_{n=0}^{\infty} \gamma_{k,n} \leq k \sum_{n=0}^{\infty} \alpha_{1,n} < \infty$, it follows that $\lim_{n \rightarrow \infty} \epsilon_n = 0$. Thus the conclusion (iii) holds. This completes the proof.

If take $T_1 = T_2 = \dots = T_k$ in Theorem 3.1, then we obtain the following conclusion:

Theorem 3.2. *Let X be a real Banach space and C be a nonempty close and convex subset of X . Let $T : C \rightarrow C$ be an asymptotically quasi-nonexpansive type mapping defined by Definition 2.1 (6). Assume that there exist constants L and $\alpha' > 0$ such that*

$$\|Tx - y^*\| \leq L\|x - y^*\|^{\alpha'}, \quad \forall x \in C, y^* \in F(T).$$

For any given $x_0 \in C$, define the k -step iterative sequence $\{x_n\}$ by

$$\begin{cases} z_{k-1,n} = (1 - \alpha_{k,n})x_n + \alpha_{k,n}T^n x_n, & n \geq 0, \\ z_{k-2,n} = (1 - \alpha_{k-1,n})x_n + \alpha_{k-1,n}T^n z_{k-1,n}, & n \geq 0, \\ \dots\dots\dots \\ z_{1,n} = (1 - \alpha_{2,n})x_n + \alpha_{2,n}T^n z_{2,n}, & n \geq 0, \\ x_{n+1} = (1 - \alpha_{1,n})x_n + \alpha_{1,n}T^n z_{1,n}, & n \geq 0, \end{cases}$$

where $\{\alpha_{i,n}\}$ is sequence in $[0, 1]$ satisfying $\sum_{n=0}^{\infty} \alpha_{1,n} < \infty$ for each $i \in \{1, 2, \dots, k\}$. Suppose that $\{y_n\}$ is a sequence in C and define a sequence $\{\epsilon_n\}$ of positive real numbers by

$$\begin{cases} w_{k-1,n} = (1 - \alpha_{k,n})y_n + \alpha_{k,n}T^n y_n, & n \geq 0, \\ w_{k-2,n} = (1 - \alpha_{k-1,n})y_n + \alpha_{k-1,n}T^n w_{k-1,n}, & n \geq 0, \\ \dots\dots\dots \\ w_{1,n} = (1 - \alpha_{2,n})y_n + \alpha_{2,n}T^n w_{2,n}, & n \geq 0, \\ \epsilon_n = \|y_{n+1} - (1 - \alpha_{1,n})y_n - \alpha_{1,n}T^n w_{1,n}\|, & n \geq 0. \end{cases}$$

Then we have the following:

- (i) $\liminf_{n \rightarrow \infty} d(x_n, F(T)) = 0$ if and only if $\{x_n\}$ converges strongly to a fixed point x^* of T in C , where $d(x_n, F(T))$ denotes the distance from x_n to the set $F(T)$, i.e., $d(x_n, F(T)) = \inf_{y^* \in F(T)} \|x_n - y^*\|$.
- (ii) $\sum_{n=0}^{\infty} \epsilon_n < \infty$ and $\liminf_{n \rightarrow \infty} d(y_n, F(T)) = 0$ imply that $\{y_n\}$ converges strongly to a fixed point x^* of T in C .
- (iii) If $\{y_n\}$ converges strongly to a fixed point x^* of T in C , then $\lim_{n \rightarrow \infty} \epsilon_n = 0$.

Remark 3.1. Theorems 3.1 and 3.2 extend, improve and unify the corresponding results of [3], [4], [9], [11]-[13], [16] and [19]-[22].

References

- [1] R. P. Agarwal, N. J. Huang and Y. J. Cho, *Stability of iterative procedures with errors for nonlinear equations of ϕ -strongly accretive type operators*, Numer. Funct. Anal. Optimiz., **22**(2001), 471-485.
- [2] R. P. Agarwal, Y. J. Cho, J. Li and N. J. Huang, *Stability of iterative procedures with errors approximating common fixed point for a couple of quasi-contractive mappings in q -uniformly smooth Banach spaces*, J. Math. Anal. Appl., **272**(2002), 435-447.
- [3] S. S. Chang, *On the approximating problem of fixed points for asymptotically nonexpansive mappings*, Indian J. Pure and Appl., **32**(9)(2001), 1-11.

- [4] M. K. Ghosh and L. Debnath, *Convergence of Ishikawa iterative of quasi-nonexpansive mappings*, J. Math. Anal. Appl., **207**(1997), 96-103.
- [5] K. Goebel and W. A. Kirk, *A fixed point theorem for asymptotically nonexpansive mappings*, Proc. Amer. Math. Soc., **35**(1)(1972), 171-174.
- [6] A. M. Harder, *Fixed Point Theory and Stability Results for Fixed Point Iteration Procedures*, Ph.D. Thesis, University of Missouri-Rolla, (1987).
- [7] A. M. Harder and T. L. Hicks, *A stable iteration procedure for nonexpansive mappings*, Math. Japon., **33**(1988), 687-692.
- [8] A. M. Harder and T. L. Hicks, *Stability results for fixed point iteration procedures*, Math. Japon., **33**(1988), 693-706.
- [9] Z.Y. Huang, *Mann and Ishikawa iterations with errors for asymptotically nonexpansive mappings*, Comput. Math. Appl., **37**(1999), 1-7.
- [10] W. A. Kirk, *Fixed point theorems for non-Lipschitzian mappings of asymptotically nonexpansive type*, Israel J. Math., **17**(1974), 339-346.
- [11] Q. H. Liu, *Iterative sequences for asymptotically quasi-nonexpansive mappings*, J. Math. Anal. Appl., **259**(2001), 1-7.
- [12] Q. H. Liu, *Iterative sequences for asymptotically quasi-nonexpansive mappings with error member*, J. Math. Anal. Appl., **259**(2001), 18-24.
- [13] Q. H. Liu, *Iteration sequences for asymptotically quasi-nonexpansive mappings with error member of uniformly convex Banach spaces*, J. Math. Anal. Appl., **266**(2002), 468-471.
- [14] M. O. Osilike, *Stable iteration procedures for strong pseudocontractions and nonlinear equations of the accretive type*, J. Math. Anal. Appl., **204**(1996), 677-692.
- [15] M. O. Osilike, *Stability of the Mann and Ishikawa iteration procedures for ϕ -strong pseudocontractions and nonlinear equations of the ϕ -strongly accretive type*, J. Math. Anal. Appl., **227**(1998), 319-334.
- [16] W. V. Petryshyn and T. E. Williamson, *Strong and weak convergence of the sequence of successive approximations for asymptotically quasi-nonexpansive mappings*, J. Math. Anal. Appl., **43**(1973), 459-497.
- [17] B. E. Rhoades, *Fixed point theorems and stability results for fixed point iteration procedures*, Indian J. Pure and Appl., **21**(1990), 1-9.
- [18] B. E. Rhoades, *Fixed point theorems and stability results for fixed point iteration procedures II*, Indian J. Pure and Appl., **24**(1993), 691-703.
- [19] J. Schu, *Iterative construction of fixed points of asymptotically nonexpansive mappings*, J. Math. Anal. Appl., **158**(1991), 407-413.
- [20] K. K. Tan and H. K. Xu, *Fixed point iteration processes for asymptotically nonexpansive mappings*, Proc. Amer. Math. Soc., **122**(3)(1994), 733-739.
- [21] K. K. Tan and H. K. Xu, *Approximating fixed point of nonexpansive mappings by the Ishikawa iterative process*, J. Math. Anal. Appl., **178**(1993), 301-308.
- [22] L. C. Zeng, *A note on approximating fixed points of nonexpansive mapping by the Ishikawa iterative processes*, J. Math. Anal. Appl., **226**(1998), 245-250.